Open Book Quiz — Ch1l Measurements
(Duration: 30 minutes)

1. The side of a cube of metal is measured to be (1.60+0.05) cm and its mass is measured to
be (30.1+£0.4) g (a) Find the perimeter of one face of the cube with the uncertainty. (b) Find
the volume and uncertainty in the volume. (c¢) Determine the density of the solid in kilograms

per cubic meter and the uncertainty in the density.
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2. A circular disk with a radius of (8.50 +£0.02) cm and a thickness of (0.050£0.005) cm. (a)
Find the perimeter of the circle with the uncertainty. (b) Find the volume and the uncertainty
in the volume.
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Open Book Quiz — Ch2 Motion Along a Straight Line
(Duration: 30 minutes)

1. A stone is thrown vertically upward. On its way up it passes point A with speed v, and
point B, 3.00 m higher than A, with speed %v. Calculate (a) the speed v, (b) the maximum

height reached by the stone above point B. At the instant when the first ball is at point B,
second ball is thrown upward with two-thirds the initial velocity from the ground. (c) How
long after the second ball is thrown does it take if the two balls are to meet at the point A. (d)
What is the height of the point A above the ground if the two balls are to meet at the point A.
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2. A juggler performs in a room whose ceiling is 3.00 m above the level of his hands. He
throws a ball upward so that it just reaches the ceiling. (a) What is the initial velocity of the
ball? (b)What is the time required for the ball to reach the ceiling? At the instant when the
first ball is at ceiling, the juggler throws a second ball upward with two-thirds the initial
velocity. (¢c) How long after the second ball is thrown did the two balls pass each other? (d) At
what distance above the juggler’s hand do they pass each other?
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